pronity60/50/300=A/B/C

0000ADDO=30R30

000 0BOOO=25R30
a0.a1=60/4=15 b0.b1=50/4=12.50
al.b1=R3(30R3-25R3)/2*=(90-75)/2=7.500
a0.b1=a0.al-al.b1=15-7.5=7.500

000 0O (a0.b0)=a0.b1+b0.b1=7.5+12.5=200]
0ADDO-0BO O O =30-25=50
0000000000 (bka2)=00 00 O-ABO O =20-5=150
a0.bk=a0.b1+b1.bk=7.5+37.5=450]
00000000 (bk)O OO =45R3
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0 0 0 O bk=(A-B)*(C/A+C/B)-(C/B-C/A)-1
bk
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pronity60/45/180=A/B/C

0 O 0 O bk=(A-B)*(C/A+C/B)-(C/B-C/A)-1
(30-22.5)*(90/30+90/22.5)-(90/22.5-90/30)-1=7.5*(3+4)-(4-3)-1=37.5R

0000ADDO=30R30

0000BOOO=225R30

a0.a1=60/4=15 b0.b1=45/4=11.250
al.b1=R3(30R3-22.5R3)/2=(90-67.5)/2=11.250]
a0.b1=a0.al-al.b1=15-11.25=3.750]

0000 O (a0.b0)=a0.b1+b0.b1=3.75+11.25=150
0ADOO-0BO O O=30-22.5=7.50

0000000000 (bka2)=00 00 0-ABO 0 =15-7.5=7.50
a0.bk=b1.bk+b1.a0=11.25*3+3.75=37.50]
00000000 (bk)O OO =37.5R3
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